
za%1:|"'t?y:'
mmnm7m=l

EZNI "ft",,

&*eH SPECIFICATION

I yw Tort EN1452SN$$56J
2 WEkmcrMc EN681-2

3 ctilrkm EN1563 EN-GJS-4SO-1Q

4 M=JE/~m9 wts4-52-01

MM MATERIALS

RU M¢&R
ITEM PARTS

1 zKW/&ody

2 CSN/5ea|s

3 &®W/Fas[eners

4 NWCoating

HE
MATERIAL

wewwD\jctik irpn

EPDM/NBR

'F*wwasA¥m
5S/Dacromer/ZY

5K~*yFusic>n Bonded Epoxy

O
t**m specification

. yp^$t ENl4525lB%%l

2.Elastomenc EN681-2

3.DucMe Iron EN1563 EN~-45O-10

4.Qahing m-52-01

m MATERIALS

NO ®#9#
ITEM PARTS

i *WB0dy
2 EElWSeals

3 *®#/FasteNec5

4 X@/CoMing

0R
MATERIAL

***&/D«t|le0ron

EPDM/NBR

'F*wwm±A%mmw
SS,/Dacromet/ZY

*&*=*/Fusl9n OoMod Epnxy

a fj- - 2:>,

"i" JO.
HND]MENSIONS(PN1O/PN16)

HgttmQDRANgE l bsp n-m$xa

M4mn Mmax (mml OUTLET (mm)

66 75 200 3/4" 4-MI>95

75 84 200 3/4" 4-Ml2x95

92 103 2QQ 3/4" 4 MI6©5

no L29 200 1' 4-M16X95

14 I 1$2 200 I' 4 MI6M5

165 LBS 200 1' 4-M16·95

200 zia 200 i' 4-ML6x95

2L6 226 200 1' 4-M16X95

230 243 ZOO 1' 4-ML6·95

269 293 368 1' 4-M20·95

m 339 439 1' 4·M20k95

N MSXA 2

mS
m

A
PN

(mm)

son'

60/2.5'

80/3'

100/4'

125/5'

150/6'

175/7"

2QQ/S'

200/8'

225/9'

250/10"

300/12"

Y

150

159

187

211

239

267

296

313

328

462

534

Z

110

119

145

167

183

217

238

269

281

352

406

HR

WEIGHT(kg)

3 9

4-B

5 4

S-B

S 3

B-3

11.3

Ll.S

12.5

12.9

18.7

25.8

M U9F&XMOD RANQE

(mm) A±MIN 0*MAX

BO 93 100

100 120 128

125 136 ISL

ISO 175 183

200 229 237

Mdimens1ons(pn 1O/PN 16)
A B NM8XA-1

(mm) (mm) (mm)

q 3CI 290 4-M16x9Cl

430 290 4-M16k90

360 130 4-M16x9Cl

430 290 4-M16x90

4 30 290 4 M16k9C)

N-MSXA-2

(mm)

8·M16k60

8-M16x60

8 Ml6r60

8-Ml6·60

$ Ml6·60

RH

mmw

23

29

29

33

41

= Lb*HallimH|MiR&6BR£}a
SHANDONGPIPESDL FLOWEQUIPMENT CO LTD
t Dlr«l Limo +a6l0l158µ59026a t MjinLlno +86l0l0536 635Q6TB

' ' ' E ,ichard@ op p I KV p p I


